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“Twice a number
plus His 8"

“The product of H
and a number
plus [7is 5.

“Twice a number
minus Sis 7"

‘The quotient of
anumber and 6
minus 3is I"

“Twwo more than 4
times a number
is -8

‘Seven less than
twice a number
is 5"

‘Five less than

‘One subtracted

increased by 10
is I

the quotient of Prom the
a number and product of Y and
3is -7 anumber is I
“The quotient of ‘HalP of a
anumber and -4, number

decreased by
8is -3
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the quotient of a
number and 3 is
at least O

“The sum of T .
three-Pourths of e?hmgu% one-
a number and raora .

li -5 number is 4
‘Four more than ‘Negative three

times a number
increased by
seven is less
than I’

®

‘Seven more
than one-sixth
of a number is

greater than

three’

0

“The sum of 5
and the twice a
number is at
most 27

7

‘Four less than
two-Fifths of a
number is No less
than 2"

(&)

“Three-Pourths
oF a number
decreased by 0
iS greater than
or equal o’

®

“The quotient of

a number and -5,

increased by 7 is
at minimum I’

(20

‘One less than
half a number is
a maximum of 19"
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Zn+4 = 8 Un +17=5
H -4 -17 =17
“Twice a number ?-'2 :% BTECFI’;OC'UCT grp_ H Hn = %2'
pusHis8 = plus I7is 5* v
N= =3
9 Zn-5=77 ° % -3 =|
+5 45 +3 43
i ber — “The quotient of
T\"n:;fggis?. ED_"L% anumberand6 | (,. A =4 -b
2 2 minus 3is I U
6 Hn+2 =-I8 e 2n=1 =5
-2 -2 +1 47
s
*Two more than Y s ‘Seven less than -
times a number iY_I_- 20 twice a number 7:’_2,’ et
is 48" g 4 55 2 =
n=-5
9 45=-7 3 hin-1 =1
Fhre e than 6 15 ‘One subtracted 1l 4]
the quotient of 3.0 =-2.3 From the Hn =12
e = product of 4 and L
e |2 bt | 4T
=
® D o= 'd ZN-873
“The quotient of | —_=10_-1D HaPora | 1% 18
anumberand-9, In _ | -9 number 2."%"” =5.2
increasedbyl0 | 2o ~ decreased by _
is I 8is -3 N=Id
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0 2 - O
Fh =" Ib-2n =4
e ST o *Ten minus one L °
- 3 - -
e s vt | YA | T g
lig -5 ~ number is Y’
n=-g8 n=1%
@ Y+ 0 5o W -3n +71 < -1
Eour more than | =4 3 -4 ‘Negative three -1 =7
. times a number -
the quotient of a - <~
rurber snd 3k | 340 25 -2 herassee iy 2n ‘.'.'52"
at least O 3 sevenis less -3
- x|
n 215 s
14 -L'-;n > 3 @ 5t2n £21
"Seven more -1 ~ ) -5 =5
than one-sixth | — The sum of' 5 2N & 57
of anumber is " -l-::y\ >-d.b and the twice a ‘N S22
greater than number is at 2 2
thres® most 27°
> ]
Zp-4 z2 ® Shn-10 25
o s s +q 34 'ﬂwgee-{-‘ow'i'hs +jo tio
““’f'ppﬂ"sﬁpa 5.2 20 -5 d:crzasedbglo tEFn2zis &
er“ rs:;?ess 25 "~ = is greater than |3
’ or equal 5* S
nzis n=z ?-OZ
® =47 2| Zh-l £
‘The quotient of 11 ‘One less than LU
a number and -5, 5. half a number is Z—én £20 -2
mrfaﬂi’nedbUT.‘S g5 2-b--5 a maximum of 19"
&t minmum n < Yo
N £ 30 |
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